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PART - III

sewfleofl nfefwed / COMPUTER SCIENCE
(WD wpmb phidle el / Tamil & English Version)

[ Qs wHLPuaTEET : 70
[Maximum Marks : 70

sTe <yaTay : 3.00 il Gprw ]
Time Allowed : 3.00 Hours ]

Sdleyenrast : (1) oasg elamsseEpnd eflursy ufeundl o dreTET ETETLIGMETE
sfuniggs Qamaratayd. SiFstufeled Gopul@ulea, S®Ds
samstafiliurariiLb o Laniqwirss Gsfelésa|ib.

@ Beob <degy smLY owvloer LLEGCL  a@HMUSHEGLD.
2 ECemgQausd@GD LwaLRss Caagr@Hib. UL BIGETr uUMIeUSD S
Quendled LweTUHSSeLD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

U@l -1 /PART -1
GOLY : () Sewensg efamss@EréEn e wallEsalb. 15x1=15

(i) Qar@sésuul@érer wrHm e safled Wsa|b gpLmLWL aflemLmwd
Csib0shsss GMuiLBHLer el wiamanb Csiggl eT(pse.

Note : (i) Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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1.

sp&Ts Henaralsid arg) ?

(<) RAM (<) ROM (®) EPROM () PROM
Name the Volatile memory.
(a) RAM (b) ROM (c) EPROM (d) PROM

1010, -&@ Hsyrar udamy Heve wHuL :

(1) C (<) B (@) E (7).
For 1010, the Hexadecimal equlvalent is :
(a) C (b) B (c) E (d A

sexfllQurdlufen gemrssnsasms @) amés 2 Fa b ngrrurq EMSELD

(<1) SCSI Port (<) USB Port
(8) VGA Connector (Fr) PS/2 Port
Display devices are connected to the computer through :
(a) SCSI Port (b) USB Port
(c) VGA Connector (d) PS/2 Port

Gsmiy Gueraenw Hlieudlliug) :

(=1) Gamiyenmaer (<) e SiemwliLger
(@) Cariyser (rF) Gmsnblu senarggin
File Management manages : :

(a) Folders (b) Directory systems

(c) Files (d) All of the above

@m Carly deg Cariympenw BlyBsrore Recycle bin -6 SEISTLDE ﬁ&a;
Epssea eahs clamssmer Casg <i(pHs Cauam@n ? ;
(<1) Shift wHmib Delete (=) Alt bHMID Delete

(@) Tab wHmid Delete () Ctrl bpmd Delete

Which of the following key combination is used to permanently delete a file or
folder without sending to Recycle bin ?

(a) Shift and delete (b) Alt and delete
(c) Tab and delete (d) Ctrl and delete

2 et () uearrL oo 2 eraf®-CQeuaflui( Gsmiienu g fésald GNUReues
Gléueurn DepE&EOMD ?

=) Apdlgpeop () flars@iluy (§) awomuep  (F) spmissd
Stating the input property and the input-output relation in a problem is known as :
(a) algorithm (b) specification (c) definition (d) statement
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endl SLLETES, LIHOrs Lwetbhieug g ?

(<) \O (<) \t (@) \n
This can be used as alternate to endl Command :
(a) \O (b) \t (¢) \n
#include<iostream>

using namespace std;
int main()
f
1
int i, sum=5;

for(i=1; 1<=5; i++)

{
sum=sum-+i;
}
cout<<sum;
return O;
}
GuGe 2 drer Hiyallen Qeuaflui® wrg ?
(1) 20 (<) 10 (&) 25

#include<iostream>
using namespace std;
int main()
{

int i, sum=3;

for(i=1; i<=5; i++)

{
sum=sum-+i;
}
cout<<sum,
return O;
}
The output for the above snippet is :
(a) 20 (b) 10 (c) 25

(d \b

(rF) 15

(d) 15

[ Sipliys / Turn over

Kindly send me your questions and answerkeys to us : Padasalai.Net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net - No.1 Educational Website in Tamilnadu

6772 4

9.

10.

11.

12.

Hredlen Qewieondsib The Qawp SaeSlbpg QsmLmi@h ?

(<t) main() (<) isalpha() (@) islower() () isdigit()
Which function begins the Program execution ?
(&) main() (b) - isalpha() (c) islower() (d) isdigit()

SLBmsser iflefssib Gung erevien gHU@D ?
(1) @18 SifleléEnd wHmb CsTLiiEb

() =8 aps Heoaressosyb pgisers)

(8) <5 <iflelss WG Qe

(W) <8 foaussos paben

What will happen when the structure is declared ?
(a) It will be declared and initialized

(b) It will not allocate any memory

(c) It will be only declared
(d) It will allocate the memory

SlereuheuaTeuDMIGT cTeneu B)euTdE(p&aH(EHid HMmID QUTHETSEHD Biiq LILIEL WITSS
Qarer flye emi@perpenw eleufsmg ?
(<) ADT (<) OOP (@) SoP (/) POP

The term used to describe a programming approach based on classes and objects
is :

(a) ADT (b) OOP (c) SOP (d) POP

QesEuwaled amrunssiu@L QFupmDsH abs Asunsmnsmen Gumd
Quikigdletmer ?

(<31) Outline QFwmHammiGeT (<) Inline G&WHImMGET

(8) srey Qswneamser (/) Inline Sy QFwhenmasar
The member function defined within the class behaves like :

(a) Outline functions (b) Inline functions

(c) Data functions (d) Non inline functions
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13. Venreueuareupmier Qewpany LalblGLL enips ahs sapm sMwede ?

(1) uafl WEssiul L Qeupamdlen (parafludL oerymésar LalldlGssiu@b
Gurgl smadHé QsmarariiuBeougerana

() veflllgssiul L Qeupammser cparalgeier Caumpul B @mss Geuam@L

(®) 9 Qewpsmmsar uaOGES APLUTE

() Qewpsmm velBguler Curg HmUl Sigliyb grelarupb smHSH o
Q&merer Geuamr(Hib

Which of the following is not true with respect to function overloading ?

(a) The default arguments of overloaded functions are not considered for
overloading. «

(b) The overloaded functions must differ in their Signature.
(c) Destructor function cannot be overloaded.
(d) The return type is also considered for overloading a function.

14. QeneuHeuameupmier ergl i Qupp cuflansuller QuissLinBSpg ?

(=) 58 (<) SAnq

(®) Qum@er | () emiiy Gewpsam

Which among the following is executed in the order of Inheritance ?
(a) Constructor (b) Destructor

(c) ~Object: . 02 AT Y . (d) Member function

15. cuenfls Hlrdvaemer Qurg s L NGrmgwrs uwea(hidgieug) :

(1) @oveus Quen@ummer .« -« (<) @eveus GlLmmer

(@) QuerGummer (/F) Ceurrev

Commercial programs made available to the public illegally are known as :
(a) free software : (b) freeware

(c) software ‘ (d) warez

 u@$l - II / PART - II
Gl : eTemeuCuenid LMl aﬁlgmnésa;@é?@ as]ml_u_mﬂé;a;mm. Sjaundlé aflerm Grng;r?‘:'lz
24 -5&@& SLLmuwns el wai&Esa, .
Note : Answer any six questions. Question No. 24 is Compulsory.
16. s._(OLUUM L s5HeT QeWOEMmeT eT(HFIs. '
Write the functions of Control unit.
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17.

18.

19,

20.

21.

22.

23.

24.

Qoo e aigefd i [,
1559 + 20,

Perform Binary addition for the following :

GUI erenpied erenar ?
What is GUI ?

lvemasar TEDITED GTaTan ? CH++ -6 o 6o efvanevEaner MG
What is meant by a token ? Name the token available in C++.

LL&S wIHPWlMW cuFUYGESaYLD.
Define a loop invariant.

LQIHOUTESD ETeTMTE) Grabias ?
What is Polymorphism ?

LIYFLL eTemme eresan ?
What is Inheritance ?

gynédm upd Aoy GOy cuers.

Write short note on cracking.

Yemeupd BlyeSler Geueflui wmg ?

#include<iostream>

using namespace std;

int main()

{
double var1=87.25255;
cout<<(float)varl<<endl;
cout<<(int)varl<<endl;

}

Write the Output for the following :

#include<iostream>

using namespace std;

int main()

{
double var1=87.25255;
cout<<(float)varl<<endl,;
cout<<(int)varl<<endl,
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L@ - III / PART - III

GOILY : IZTeugl Qum eflannsa@nsg el waflsaab. eupdled elarr eram 33 -&@)

SLLmuwns eflewalldsa)ib. 6x3=18

Note : Answer any six questions. Question No. 33 is Compulsory.

25.

26.

27.

28.

29.

30.

31.

32.

33.

s@NLAuIHufer senerwser wrees ?

What are the characteristics of a Computer ?

SLLNETS Qg ud e g LilenLufer mem@sweluiler cuanssamer 6r(LpgIs.

Write down the classifications of microprocessors based on the instruction set.

20 Camhiyemrenw o (meunsEn Qe[ eupaEDEET CT(LHSIs.

Write the two ways to create a new folder.

Cryd LETHH Quids ewli9er FaTab&ET HMID SMOGET ereme ?

What are the advantages and disadvantages of Time-sharing operating system ?

stremp() Qewmanm LD eT(PGIS.
Write about strcmp() function.

C++ -@& QasE L Semifludy euemmumiibser upm Smy GHLY cuamys.

Write short notes on Class access Specifiers of C++.

GOWMESD LHNID WwePGHuTEsD UDDl e(PSIs.
Write about encryption and decryption.

50 @manmud sweils spab DD Ay GHILY eWes.

Write a short note on Tamil Virtual Academy.

For wpmid Continue Fapenp vwetu®isd 5 -g ey ey W 10 cuepwimen
aanEmer FSHHD C+t+ Hlyed TG!S,

Write a C++ program to display numbers from 1 to 10. Except 5 using for’ and
‘Continue’ statement.
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@S - IV / PART - IV
GOIUY & SiEveg| aflanndsEnd@b e walbsa|ib. 5x5=25
Note : Answer all the questions.
34. (@) asaxluQurduQen L Gaum sevavpapamer 6Neiré@&s.
ATV
(=) Quéas w@windar QeuaCoararmn Qpflpampsamer el6TEEs.

(a) Discuss the various Generations of Computers.
OR

(b) Explain the process management algorithms in Operating System.

35. (=) (1) Wiyl yerell ueno aramamenT, QMblore EETERTS LWOTHOICISDSTET
aulpenmaanet efleufl&seyLb.

(ii) (98.46),( -&@® Hargrer @mblane crewrentis LIHDIS.
3|6V605)

() Qués Cprgdler sigliumLuie Homaas stsamsmer gnalflamauie
S|MDSFE|LD.

(a) (i) Write the prbcedure to convert fractional decimal to binary.
(ii) Convert (98.46),, to Binary.
OR

(b) Arrange the memory devices in ascending order based on the access time.

36. (&) C++ -a LWTLRSHILGDL QBhloe QsupGilama LD e(ps)s.
S{6V6VG|
(<) iy gpabd d®PESD (popou 5&bS TbE5IEST G ofeufsseyb.
(a) Explain about Binary Operators used in C++,

OR
(b) Explain Call by value method with example.
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37. (=) 58 wHmD KA - Caugur® Fms.
{60605
(=) Gemeuqsid Hlyedlen QeuafluiienL er(pgis.
#include<iostream>
using namespace std;
int main()
{
Char dev[5] [10] = {“Monitor”, “Speaker”, “Printer”, “Scanner”, “Keyboard™};
for(int i=0; i<5; i++)
cout<<dev[i]<<“\n”;
}

(a) Mention the difference between constructor and destructor
OR
(b) Write the output of the following program :
#include<iostream>
- using namespace std;
int main()

{
Char dev([5] [10] = {“Monitor”, “Speaker”, “Printer”, “Scanner”, “Keyboard”};

for(int i=0; i<5; i++)

cout<<dev][i]<<“\n”;
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38. () Qevarwger EN&Gsdlan euaasamer eflauf&say.

Explain the different types of Cyber attacks.

360605 /OR
(=) C++ Byedler o crer Sevpsamer Hmsgs.
Debug the following C++ program.
Output

Constructor of base class...
Constructor of derived...
Constructor of derived]...
Destructor of derivedl...
Destructor of derived...
Destructor of base class...
Program :
$include<iostream>

using namespace std;
class base()

{

public

base()

{

cout<<“\n Constructor of base class...”;

}
Ibase()

{
1

cout<<“\n Destructor of base class...”;
|5
}

Class derived : : public base

{

public

derived()

{

cout<<“\n Constructor of derived...”;

}
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lderived|) -
{
cout<<“\n Destructor of derived...”;
¥
I3
Class derived1 : : public derived

{

public :

derived1();

{

cout<<“\n Constructor of derivedl...”;
)

derived1();

{

cout <<“\n Destructor of derivedl...”;
}

}

int main():

{

derivedl x;

return O;

-00o0-
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